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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

¢ 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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(iii) @US 37 7 UH-Uek 37 a1 6 57 5 | @US T H 6 ¥¥7 & 577 @ I35 2 37%
FE | @S TH 10 97 A4-F17 3% & & | @5 7 7 8 ¥97 8 577 & y9%
43 FTE |

(iv) Y9795 7 $I5 GHY fdhcq 787 & | a9ifd 1 37% aicd 2 Jo41 H, 2 37H] i
2 Y991 #, 8 3l arct 4 Fo1 7 N 4 3H] It 3 FoHI 7 ARk fdheq aT
?qwﬁ/é#wﬁﬁmﬁqwﬁwﬁﬁ#%mwmﬁw
/

(v)  SApact & IFIT # AT TFE |

General Instructions :

(i) All questions are compulsory.

(it)  The question paper consists of 30 questions divided into four sections —
A, B, C and D.

(iit)  Section A contains 6 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks
each and Section D contains 8 questions of 4 marks each.

(iv)  There is no overall choice. However, an internal choice has been provided
in two questions of 1 mark each, two questions of 2 marks each,
four questions of 3 marks each and three questions of 4 marks each. You
have to attempt only one of the alternatives in all such questions.

(v) Use of calculators is not permitted.

Qs A
SECTION A

97 G&IT1 G 6 T T F97 1 37 H & |
Question numbers 1 to 6 carry 1 mark each.

1. © H&FeT a 991 b 1 H.9. (HCF) 5 dd1 391 .9, (LCM) 200 & |

%A ab Td HINT |
The HCF of two numbers a and b is 5 and their LCM is 200. Find the
product ab.

2. k1 98 AN J1d hifoy, S8+ T x = 2 THiR0 kx? + 2x — 3 = 0 1 Tk &A
2

37T

k% 9 99 F@ i, ek fore fgoma avfiehor 3x2 + kx + 3 = 0% W
JTEafdes o 99 &l |
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Find the value of k for which x = 2 is a solution of the equation
kx? + 2x — 3 = 0.
OR
Find the value/s of k for which the quadratic equation 3x2 +kx +3 =0
has real and equal roots.

Ife e TR T H a=15,d=—3TAT a, =08, A nH A [1d HIT |
Ifinan AP, a=15,d =-3 and a, =0, then find the value of n.
I sin x + cos y = 1; x = 30° AAT y@?{v{ﬂ'ﬁmé, aﬁywmaﬁ:‘ﬁﬁq |

HAYAT
(cos 48° — sin 42°) <hl HIH 3ATd W |
If sinx +cosy=1; x=30° and y is an acute angle, find the value of y.

OR
Find the value of (cos 48° — sin 42°).
T FHEY PIYST % SFA%d 25 9 AHT 99T 121 I AHL 8 | SRl WA STl h
ST TG I |
The area of two similar triangles are 25 sq. cm and 121 sq. cm. Find the
ratio of their corresponding sides.
I g (3, a), 2x — 3y = 5 g F&lUd @1 W @ 2, a1 @’ 1 7 71 T |
Find the value of ‘a’ so that the point (3, a) lies on the line represented
by 2x — 3y = 5.

Qs
SECTION B

o7 GEIT7 G 12 T JAF Jo7 F 2 3F |
Question numbers 7 to 12 carry 2 marks each.

7.

Ife Toh U Ul o J9W n UG T JThA S, S, = 2n + n T Y& &, @
SEehT ndl 9g JTA HIT |

HAUAT
Ife T THIGT IS T 1741 U€ 8 109 U ¥ 7 AfIF 7, O Fd JAW I
HIT |
If S,), the sum of the first n terms of an A.P. is given by S,, = 2n? + n, then
find its n'® term.

OR

If the 17" term of an A.P. exceeds its 10" term by 7, find the common
difference.
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10.

11.

12.

fagatl A(2a, 4) T91 B(-2, 3b) ! e ot @r@vs &1 wea-fag (1, 2a+ 1)

21 ad¥ b HE G hIfT |

The mid-point of the line segment joining A(2a, 4) and B(-2, 3b) is
(1, 2a + 1). Find the values of a and b.

Th 5= o I8 UET 91T & 59 6 harent W Fmfaiaa s1em 3ifend @
A B C A A B

TH UTH ol Teh S Whehl STAT & | SHeh! T UTRIehaT & Tk (i) A 919 &1 (ii) B IH
2

A child has a die whose 6 faces show the letters given below :

A B C A A B

The die is thrown once. What is the probability of getting (i) A (ii)) B ?

AT OFETS It gRT 612 G 1314 1 7.9, (HCF) T i |
rgar
TS foh hIg 99 w0 quifeh 6m + 1 I 6m + 3 I1 6m + 5 % &I | g1 7,
W&l m IS YUrieh @ |
Find the HCF of 612 and 1314 using prime factorisation.
OR

Show that any positive odd integer is of the form 6m + 1 or 6m + 3 or
6m + 5, where m is some integer.

H1E 1 W 5 ¥ 50 I I TN (T HE W Th &A1) Afehd & I Th a5
H SRt ITTR! ThR THA TR | 39 999 H § AIgTSAT U IS Hehrel T |
TTRIeRdT FTd shifo fop fehtel T w1 W 3iferd BT (1) 10 T A hl 19T
T 2, (ii) T U1 o HE B |

Cards marked with numbers 5 to 50 (one number on one card) are placed
in a box and mixed thoroughly. One card is drawn at random from the

box. Find the probability that the number on the card taken out is (i) a
prime number less than 10, (ii) a number which is a perfect square.

k & fopm O & foru, iRas gt e
2x +3y =7
k-Dx+((k+2)y=38k

% SARd &9 ¥ 31 & & ?

For what value of k, does the system of linear equations
2x + 3y =17
k-1Dx+(k+2)y=3k

have an infinite number of solutions ?
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Qs v
SECTION C

v G&IT 13 @ 22 % JAF o7 & 3 3% 8 |
Question numbers 13 to 22 carry 3 marks each.

13. fag e i V5w smfam den 2 |
Prove that +/5 is an irrational number.

14. w896 x* + x3 - 14x% — 2x + 24 % A YFF A@ HINC Tt G = 7 6
J2 AT /2 3F% T IH 3 |
Find all the zeroes of the polynomial x* + x% — 14x% — 2x + 24, if two of its

zeroes are «/5 and —/2.
15. fag P, feigati A(2, 1) @ B(5, -8) ! el aTet {@T@vs i 36 Yo fawriod

e 3 %:%% |3 PYET 2x — v + k = 0 W 8@ 2, @ k %1 WF T4
ST |

AT
p %1 I8 M 1A Hie [eek g i3 (2, 1), (p, 1) 91 (-1, 3) @ 3 |

Point P divides the line segment joining the points A(2, 1) and B(5, —-8)

such that % - % If P lies on the line 2x — y + k = 0, find the value of k.

OR
For what value of p, are the points (2, 1), (p, —1) and (-1, 3) collinear ?

16. Tog Fifve i .

tan 0 cot®  cos O+sin6
1—tan® 1—cot® ~ cos 0 —sind
AYAT
??Iﬁcose+sin6=ﬁcos@%,?ﬁﬂ'ﬂﬁ'ﬂﬁﬁcose—sin6=«/§sin6%|
Prove that :
tan 0 cot®  cos O+sin6
1—tan® 1—cot® ~ cos 0 —sind
OR

If cos 0 + sin 6 = v/2 cos 0, show that cos 6 — sin 8 = /2 sin 6.

17. T hicds SEEE (hostel) o AT STHEE 3T T Tsh W HId 8 91 o9
39 W It ot 2 6 = 7 fohaw o7 um o vioe forn 2 | ueh formeff A =1,
S 25 f&T WIS AT 8, T 4,500 31CT Hid USd & S€ih Ueh fommeff B &I, S
30 fe IS a1 B, T 5,200 37T L USd 3 | WIeh ad =9 3R yfdfeq
% HISH 1 §od A1d hINT |
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18.

A part of monthly hostel charges in a college hostel are fixed and the
remaining depends on the number of days one has taken food in the
mess. When a student A takes food for 25 days, he has to pay ¥ 4,500,

whereas a student B who takes food for 30 days, has to pay ¥ 5,200. Find
the fixed charges per month and the cost of food per day.

T% A ABC #H, £ B = 90° a1 fsig D Yot BC 1 neafog 2 | fag i fs
AC? = AD? + 3CD2.

HUAT
i 1 H, T @afgarg s ABC, S8 AB = AC 2, 1 9618 T8 s CB
W wh fag E @ 8 | If¢ AD L BC @1 EF L AC &, a1 fig shifg fs

A ABD ~ A ECF.
A

-
E B D C
ST 1
In A ABC, ZB=90° and D is the mid-point of BC. Prove that
AC? = AD? + 3CD2.

OR
In Figure 1, E is a point on CB produced of an isosceles A ABC, with side

AB = AC. If AD 1 BC and EF 1 AC, prove that A ABD ~ A ECF.
A

A
E B D C
Figure 1
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19. fag Shife for foret 901 & wford TaTR =g TH=gyS gaT 2 |

Prove that the parallelogram circumscribing a circle is a rhombus.

20. 3T 2 H, 7 G BT A1t 99 o i BreEave |t shg W 60°, 80° AT 40°
o I SF1d 2, Bl DTSR fohIT 7T 8 | BTATIhd WTT ST &F%h 1A T |

In Figure 2, three sectors of a circle of radius 7 cm, making angles of 60°,
80° and 40° at the centre are shaded. Find the the area of the shaded

region.
Figure 2

21. e arforeRt ek Am T | 9T A4 ATl S TEAT R g @
g (ast H) : 20-30 | 30—-40 | 40—-50 | 50—60 | 60 —70
9T T Il i HEAT 8 40 58 90 83
TR T aTel sl Sgeieh 311 T T |
The following table gives the number of participants in a yoga camp :
Age (in years) : 20-30 | 30-40 | 40-50 | 50-60 | 60 -"70
No. of Participants : 8 40 58 90 83

Find the modal age of the participants.
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22. UH @ SeH ATl A9 UTEh I Ahfd 3 # gufe mu firemed § S 2 2 |
SRR e w1 Aaies = 5 T o1, W e & = 3R ¥
3N gIAT AL o1, e frers <l ariear a0 & St of | Afe weh firem
1 S8 10 I oft, a1 fireme <t anuTE} arfiar qen 3Hehl arsaldeh el [
HIT | (7 = 3-14 T HIf)

Tsh Aghl Id ¥ W Th doHhR ! i, fogehl 3meam Brear 18 ot qen
S 32 O B, B W 3T THR Gl Hdl 8 T 1@ 1 IR QT Sl
2 | Al 39 TR < < SuTs 24 Bt B, a1 fodieh g (Suverd & 1 T
T 1) A HIT |

A juice seller was serving his customers using glasses as shown in

Figure 3. The inner diameter of the cylindrical glass was 5 cm but bottom
of the glass had a hemispherical raised portion which reduced the
capacity of the glass. If the height of a glass was 10 c¢m, find the apparent
and actual capacity of the glass. (Use n = 3:14)

Figure 3

OR
A girl empties a cylindrical bucket full of sand, of base radius 18 cm and
height 32 cm on the floor to form a conical heap of sand. If the height of
this conical heap is 24 cm, then find its slant height correct to one place
of decimal.

Nurturing Success of Every Child https://deekshalearning.com



o Deeksha

w@ug
SECTION D

G977 GEIT23 G 30 TF 3% G & 4 3F 8 |

Question numbers 23 to 30 carry 4 marks each.

23.

24.

25.

T RSl 360 TR 1 gl THEAW W@ ® 9@ w ¢ | AR A A
5 Tepti/erer aferes B, o SHY I A 1 9¢T A THT Adl | Iel B = I
T |

YA

x % [T & I :

1 =1+1+1;a¢b¢0,x¢0,x¢—(a+b)
a+b+x a b x

A train travels 360 km at a uniform speed. If the speed had been 5 km/hr
more, it would have taken 1 hr less for the same journey. Find the speed
of the train.

OR

Solve for x :
. =1+1+l;a¢b¢0,x¢0,xi—(a+b)
a+b+x a b x
afe T FUIR A F TAW p TG HI ATHA q B AT AT q TSI K ATHA p B
A T foh S W (p + o) T 1 ATHS { — (p + )} B |

If the sum of the first p terms of an A.P. is q and the sum of the first q
terms is p; then show that the sum of the first (p + q) terms is { — (p + q)}.

Ife foreft PIsst ®, Uk 9o &1 a7, 31 Q1 ST & I % INTHS oh SR g,
@ forg ST for agell o 1 augE FHior gHHr B |

In a triangle, if the square of one side is equal to the sum of the squares
of the other two sides, then prove that the angle opposite to the first side
is a right angle.
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26. UH GHIGHE BT sl AT HINC, SEH MER 8 T qo1 Hars 4 Tt 2 |
e Th F PS bl A i ekl e 38 wigarg Brys i wd
sTTa i % T & |
Construct an isosceles triangle whose base is 8 cm and altitude 4 cm and
then another triangle whose sides are % times the corresponding sides of
the isosceles triangle.

27. EHAA T @Sl TH ASH 3194 & 100 Hi. hT g W f&d & I 7@ weht
IFI HIUT 30° UTAT & | Ueh ASehl, S Wb 20 Hl. o 9o o R | @l 7,
3T 9l BT IATT BV 45° Ul B | AShT a1 el el hi faudiq fesment #

3 | vt 1 et ¥ gt Fma it | (fam man R V2 = 1-414)
e

4 W % T fog A ¥ T Isd 7T TomE w1 3T F0 60° B | 30 THUS H
ISE o UYEI, IFIE BV 30° B Il g | ARG Ig fum ww srr SHEE
3600+/3 HieX W 3 W &, dl fowH &l =1 AT HIWT |

A boy standing on a horizontal plane finds a bird flying at a distance of

100 m from him at an elevation of 30°. A girl standing on the roof of a
20 m high building, finds the elevation of the same bird to be 45°. The boy
and the girl are on the opposite sides of the bird. Find the distance of the
bird from the girl. (Given V2 =1-414)

OR
The angle of elevation of an aeroplane from a point A on the ground is
60°. After a flight of 30 seconds, the angle of elevation changes to 30°. If
the plane is flying at a constant height of 3600+/3 metres, find the speed
of the aeroplane.

28. T SHERAT 5o gnell § IRERAN x AT y o WM 1A s wslfeh N = 100
q HIeTh = 327 |

T : 0-10|10—20|20—30 |30 — 40 |40 — 50|50 — 60| I

forenfefai S w=m : | 10 X 25 30 y 10 100

AT
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7 SRERAT 97 1 T Y A T H g9 IRaRal 9% (qoT) S,
37d: 39 §<4 1 HILh HH FTd ShifoT |

it 0-10{10-20|20-30|30-40 (40-50|50-60| 60—"70

ELCLGIE 5 15 20 23 17 11 9

Find the values of frequencies x and y in the following frequency
distribution table, if N = 100 and median is 32.

Marks : 0-10{10-20{20-30|30—40 (40 -50(50 — 60 | Total

No. of Students : 10 X 25 30 y 10 100

OR
For the following frequency distribution, draw a cumulative frequency
curve (ogive) of ‘more than type’ and hence obtain the median value.

Class : 0-10|10-20|20-30|30—-40|40-50|50-60 | 60—-70

Frequency : 5 15 20 23 17 11 9

29, fug S fe -

(1 + cot 6 + tan 0) (sin O — cos 0)

(sec3 0 — cosec® 0)

sin2 0 cos2 0

Prove that :
(1 + cot O+ tan 0) (sin O — cos 0)

(sec3 0 — cosec® 0)

30. TUH g7 hl SW & Gail dTcdl, WP o S o BN Hl 7 | AG 38k Hu
don =t gt Rl o = A 45 9 qen 25 G § 1 STedt i e
(Seater) SaTE 24 T B, @1 39 dledl &I a9 T T G1g HI =T I &A%

Fa hifsre | g oft Sa hifse foh gad foraam 9Tt o TR B | h::%snﬂn
Hifo)

An open metallic bucket is in the shape of a frustum of a cone. If the
diameters of the two circular ends of the bucket are 45 cm and 25 cm and
the vertical height of the bucket is 24 cm, find the area of the metallic
sheet used to make the bucket. Also find the volume of the water it can

hold. (Use == ?)

= sin2 0 cos2 0
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